20204 3A31BRE
NWEBEFEATY 7EE (Bfr-M)
#HE LEE RIEE iR
I BEEDE
1. JRENEE
L] o 521 o 46,884 58,187 A 11,303
0
mEBEESE 46,884 58,187 A 11,303
2. EEEE
(WEFEEE
HR-REXEHHEL3I45S 2,200,000 2,250,000 A 50,000
YR RELREOMBLERELEILES 1,530,000 1,580,000 A 50,000
MERAEARETESLDES 280,000 310,000 A 30,000
NBEEEHXESLZES 100,000 300,000 A 200,000
E AN & EF Bl &5 B & 0 100,000 A 100,000
BEEESE 4,110,000 4,540,000 A 430,000
(2)FDithETEEE
0
ZTHMETEEESET 0 0 0
EEE&EESET 4,110,000 4,540,000 A 430,000
BESE 4,156,884 4598,187 A 441303
I &afEns
1. RBEE
0
REIBESE 0 0 0
2. EEEE
0
BEBESET 0 0 0
BESE 0 0 0
I IEBREAEEDER
1. ¥5EIERKRBAE 3,930,000 4,360,000 A 430,000
OB EEEADITLEE) (3,930,000) (4,360,000) 430,000
IEEEKREESE 3,930,000 4,360,000 A 430,000
2. —RRIERREARE 226,884 238,187 A 11,303
OB EEEADITLEE) (226,884) (238,187) 11,303
ERRBIESET 4,156,884 4,598,187 A 441,303
BERVIEKRESST 4,156,884 4,598,187 A 441,303




20194 48 1B M 520204 3A31AET

DNWHEEATY 7 HE (Bfiz: )
7 ] LEE BIEE =8
I —HRIERRBAE RO E
1. BEEHOER
(D #RE RS
EAXRUMEERAR [ 0 ]| 01 0 1]
E A M E 2 B AEB 0 0 0
EAMEZDES £ 0 0 0
ZWME [ 0 ]| 01 0 1]
%2 HY = & 0 0 0
E-+ 30 [ 0 ]| 01 0 1]
Mo T R B E K 0 0 0
ZIEMHE [ 580,000 1| [ 850,000 1] A 270,000 ]
= B = it & 150,000 150,000 0
2 0 EFH e KR E B 430,000 700,000 A 270,000
H#oAn 2% [ 0 ]| 01 0 1]
%2 i F 2 0 0 0
BEINEE 580,000 850,000 A 270,000
()REER
=4 E S & [ 363,523 1| [ 809,177 1 A 445654 ]
& * ES = 0 0 0
B B E A B =% 0 0 0
i3 & X A % 2,000 0 2,000
= 3 & 0 80,000 A 80,000
& H & i & 6,560 7,173 A 613
H i u“u & 2,363 0 2,363
En il &l ¥ & 0 0 0
& & # & 0 0 0
+ S + - & 0 171,180 A 171,180
* ] K # & 0 0 0
=1 & # 196,500 194,400 2,100
E Eil & 70,000 40,000 30,000
% h Bh 73 & 0 200,000 A 200,000
¥ 4 + E B # 0 113,400 A 113,400
Ei:| i N B3 0 0 0
% h F # # 0 0 0
x i (A & 85,000 0 85,000
M & 1,100 3,024 A 1924
& B B [ 227,780 1| [ 246,600 ] A 18820 ]
i & prd bt & 180 0 180
bt & P & 0 0 0
H i u“u & 0 0 0
* ) b/ # & 196,500 194,400 2,100
¥ 4 + B EBE B 0 0 0
E Eil il 0 0 0
Ei:| i N = 1,100 2,200 A 1,100
% h F # # 0 0
M & 30,000 50,000 A 20,000
BEERAM 591,303 1,055,777 A 464,474
LR SR A 11,303 A 205,777 194,474
2BEIMEBDER 0
(D #E SN 0
BEs IR 0 0 0
Q)BENER 0
BENER 0 0 0
LHRRE S A 0 0 0
L — R ERRBAEE SRR A 11,303 A 205,777 194,474
—RRERMESRE RS 238,187 443,964 A 205,777
— R ERRBAE AR &S 226,884 238,187 A 11,303
I EEERMEEREOL 0
ZHEFHE 0 0 0
—RRERBAEADIREEE 430,000 700,000 A 270,000
LHAtEE ERRBAEE SR B A 430,000 A 700,000 270,000
EEERMESRE RS 4,360,000 5,060,000 A 700,000
R ERMELHRES 3,930,000 4,360,000 A 430,000
I ELREAEHRES 4,156,884 4,598,187 A 441,303




20203 A3 HERE

AWBEEATYTHE (B4 )
BERBREE B mEE FERBEMNE & &
GRENERE)
HE&ES BEFrES BEEEELT 8,485
LEES
KIRETIERSE
HAREXIE [EiEHESELT 38,399
RENEESET 46,384
(BEEE)
AR
YR REERELE 454 | EEES TIEAS YR-REHFEZXIETD 2,200,000
EHE B ARBETEREE | X Btk 214 50
BABXIE |(2oBELLTLS,
B BEHEOLST = EIES TEEAeE |PR-REHE-RECET 1,530,000
R REBRONBBREX BEHR ARETLERRRE | s 5 B DR
BlLES BABXE |[tuna,
mEEANELE uESs  |EZEES TiEEeE (MR- REZBRUHR-R 280,000
iR I E ) B KR 1? fE ek S
BABXIE % XESLE0OELLT
L\éo
ARELHEINES EEES XRETEReE |PR-REOKE REME 100,000
= . ERBE MHREREE,
BABXIE |MRELOLEDELL
T3,
EARTEI LTS LEES AEEIEASE |[EARHOMELLTNS. 0
AAERE
ZOWETEE
EEREas 4110000
BESH 4,156,884
(hEham)
B AEaE 0
(BEaE)
ETaEa: 0
aiff 0
1EBRBA 4,156,884




